EARAZROREIERT — 2 N—XBISY —F 20195E3H21H () 18EE%I6H

m A—3 A Y>5%—# ‘ [Xi&] & ‘ [EBME] — | & (B) 14000 RE
[AE4£] 1% :700,000  ~ 23#&:245,000  ~ 3 3#%:140,000 @ .~ 4 & :105,000 5 3 :70,000 M
B\ ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. NN 7 | ERERI 1:29.5 1-1-1-1 | 39.0| — 7 501 | RESHR (BF)
11111 —RIZANT W * 56.0 (=) 1) | W) KX
’\29?1 FTUNTFs B:LTF4—Y—ZT2R Slapse]
G i o8 | KBRAE 1:29.5 2-2-2-2 |38.9| — 2 | 503 |MHEEX (FH)
2055 |TIRXLY 56.0 (7 E) 1) I
RYYRG4TFTR BN TTH— KE E—
N BHRER :29. -9-9- . - FIFRE (BH)
sl 4 |-V FLTE o6 | R 1(7295’ $eea |8 : <5+031> [ )
LN—=VFITyPa BIRENEZIND vIL EARYS
> N e+ E2 8 ; 34— - BEEX (FH)
alglo| v on—n— H 6 sl 1(.12/92.)7 3-3-4-3 | 38.9 5 ig;s e
L:ZgY—>bE—O— B:EI> hN—/N— HIMRE Yk
= > 7| BIE 1:29.7 7-6-3-5 [38.8| — 4 552 | FTHBIE (BH)
5/7|8|7VAx&2Z > 7 6.0 (74%) ) |EwES
LA R=3I2Uk—L B:R/—TL—72 g—L— - T vy T7—LHRE
: PR E—ER :30. -8-6- 2| = THER (&)
6 6| ILE—F i 5 e 1 (340)6 8-8-6-8 | 39.2 3 (4_814) e
RN—5—-S97T BNA54—F (/) HEa-KL—Ya>AET7
- BIFFE IR : -5-8- - BIFRE (BH)
7 S| WFTF = it 6 ity 1(/3%3 4-5-8-9 | 39.1 8 <4+651) i)
¥y / %% B:O¥-Ta KAt
. TRE : —4-5— — BEIEX (FH)
glglio] #1vaye H 7 e 1.(310).8 5-4-5-6 | 39.8 1 zzg;s et
84 LINT Ry TR B XA=IN—FT I X pailzcbae]
s N NP ERFHR :31. ~7-7- . — BT (FH)
ol7l 7| =1 x0snEye 4 10 R 1 (321)2 6-7-7-7 | 39.8 9 ;1525) i
RTITRAFYVAIN B RKY - EviLy RT7—L4
5 £ LB e 31, -10-10-10{ 39.1 | — AEE) ()
10 | R ELTY - > 9 L 1(311)4 10-10-10-10| 39.1 10 :gg) ﬁfm%m
R:FATATv— B:T7oTh HET7— L
® 1 — @B
1T=7r= 1,5,9,2,10,7,8,6,4,3
DI —5F— 1,5,9,10,2,8,7,6,4,3
Ja=5= 1,5,8,9,10,6,7,2,4,3
43—+ — 1,5,9,4,8,10,7,6,2,3
[ /N
B 1 4,730 714K 1-5 1,870M B 1-5 3,890 JEE 1-4-5 11,610H
B B 1 920H 1-4 4,490 B & 19 4,660 JEE 1-5-4 110,320M
5 180H4 4-5 890M B E 1-5 12,150
4 270M

ABTICOVTRDTEEERROODE, JHB LS,




